MTTC Chemistry Review Test 8: Bonding II Name

MUL TIPLE CHOICE. Choose the one alternative that best completes the statement or answers the question.

1) A typical triple bond consists of

A) three pi bonds

B) three sigma bonds

C) three ionic bonds

D) two sigma and one pi bond 

E) one sigma and two pi bonds

2) The blending of one s atomic orbital and two p atomic orbitals produces

A) three sp2 hybrid orbitals

B) three sp hybrid orbitals

C) two sp2 hybrid orbitals

D) three sp3 hybrid orbitals

E) two sp3 hybrid orbitals

3) For molecules of the general formula ABn, n can be greater than four

A) only when A is boron or beryllium

B) only when A is an element from the third period or below the third period on the periodic table. 

C) only when A is Xe

D) only when A is carbon

E) for any element A

4) Using the VSEPR modet the molecular geometry of the central atom in XeF2 is

A) tetrahedral

B) trigonal planar

C) linear

D) trigonal pyramidal

E) bent

5) The molecular geometry of the CS2 molecule is

A) T-shaped

B) linear

C) trigonal planar

D) bent

E) tetrahedral

6) The electron-domain geometry of a carbon-centered compound is tetrahedral. The hybridization of the central


carbon atom is

A) sp3d

B)sp2
C) sp3
D) sp3d2
E)sp

7) Using the VSEPR model, the molecular geometry of the central atom in PF5 is

A) trigonal bipyramidal

B) seesaw

C) square planar

D) tetrahedral

E) square pyramidal

8) The molecular geometry of the CHF3 molecule is

A) seesaw, polar

B) seesaw, nonpolar

C) tetrahedral, polar

D) tetrahedral, nonpolar

E) trigonal pyramidal, polar

, and the molecule is

9) The combination of two atomic orbitals results in the formation of

molecular orbitals.

A) 1

B)2

C)3

D) 4

E) 0

10) Using the VSEPR model, the electron-domain geometry of the central atom in N02- is

A) octahedral

B) tetrahedral

C) linear

D) trigonal planar

E) trigonal bipyramidal

11) In order to exhibit delocalized  bonding, a molecule must have

A) at least four atoms

B) trigonal planar electron domain geometry

C) at least two resonance structures

D) at least two  bonds

E) at least three  bonds

12) According to MO theory, overlap of two p atomic orbitals produces

A) one  MO and one * MO

B) one :  MO and one  * MO

C) one  MO and one  MO

D) one  MO and one :  MO or one  MO and one  * MO

E) two  MOs, two :  MOs, one  MO, and one  * MO

13) The angles between sp2 orbitals are


A) 180°
B) 45°

C) 90°

D) 120°

E) 109.50
14) The total number of:rr bonds in the H-C::C-C=C-C=N molecule is

A) 3

B)4

C)6

D) 9

E) 12

2

Answer Key

Testname: BONDING II.TST

MDL TIPLE CHOICE. Choose the one alternative that best completes the statement or answers the question.

1) E 2)   A

3) B 4) C 5) B 6)  C

7) A 8)  C

9)  B

10)  C

11)  C

12) D 13) D 14)   C

